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1-1.

0.5M KPB (pH7.0)

1) 0.5M KH,PO4
KH2P04:13609

0.5 x 136.09 x 500/1000 = 34.609 g
34.6g
500ml
2) 0.5 M K,HPO,
K,HPO,=174.18

0.5 x 174.18 x 500/1000 = 43.545 g
43.5¢

3)) 1) 2) pH7.0
0.9 NaCl
NaCl=98.08
1) 4.5¢
500ml
2) 12x120mm Sml
3) 121 Smin
(1nmol/ml)
*=476.54
1) 0.04765g( 0.047 g)
Iml —0.1 mM
2) 1)10ul 990 pl
100 —1 uM
3) 2)10ul 990 pl
100

500
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—10 nM PaACa soln. (=20 nM PaA soln)

4) 3)80pul 1520 pul
20 —1y M =1 nmol/ml
*
D- (MW 219.24)
1
Agar Powder
1) 3.6g 1.5g
2) 100ml
3) Sml 15ml
5 121
1
1) 3.6g
2) 100ml
3) 12x100mm Sml
5
121 1
2



7.7g
100ml
1-2.
50 25up1
20 25
pl
1-3.
1) Lactobacillus plantarum ATCC 8014
3000rpm, 10
1) 0.9 NaCl 5ml
3000rpm,5 0.9
NaCl 5ml
2) 0.9 NaCl
Sml
s50ul 0.9 NaCl 5ml
) 3 (12x75mm)
3
No.0 1
2)
5 121 1 )
3) 50ul
4) 30 18 24
5) 660nm No.0
0
6)
1-4.
y
=ax+b
nmol/day
= b /a /
ml X x 1 ml
1. 20% =
=0.280 y=2.356x+0.057 =25ml
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(0.280-0.057)/2.356  /0.025% 100%
25/1000=9.5 umol/day
1y
=0.108 y=2.339x+0.013 =825ml
(0.108-0.013)/2.339/0.025% 10x 825/1000
=13.45 umol/day

2.

2-1.

50 m MKPB buffer (pH7 .0)

1) 50 m M KH,PO,
KH2PO4:13609

0.05 x 136.09 x 500/1000 =3.402 g
3.40g

500ml

K,HPO,=174.18

0.05x 174.18 x 500/1000 =4.354 g

4.35¢g
500ml
)1 2) pH7.0
0.5 M Tris-HCI (pH 8.3)
2- -2- -1 3-
=121.14
0.5x 121.14 x 200/1000 = 12.114
Tris 12.114 g 100 ml
HC1 pH 8.3
200 ml

50 % glycerol

( Glcerol )=92.09 assey : 99.0%

glycerol 20 g 20 ml

0.02 M KHCO;_
=100.12

0.02 x 100.12 x 100/1000 = 0.2002
KHCO;3 020¢g
100 ml

(Tris soln.)
=307.33
1 0.015 g

Tris-buffer (pHS.3)
2 100

990 ul — 150 pg/ml
3 10

15 ug/ml

1 ml
—15mg/ml
10 pul Tris-HCI (pH 8.3)

100 ul 0.5 M Tris-HC1



(pH 8.3) 900 pl — 15 pg/ml

(Phosphatase, Alkaline from calf intestine,
SIGMA P7923, 2000 units, )
1) 50 % glycerol, 1 ml

—2000 U/ml
2) 10 10 ul 50 %
glycerol 90 ul  — 200 U/ml
3) 20 20 ul 05 M
Tris-HCI (pH 8.3) 380 ul
— 10 U/ml

Liver acetone powder from pigeon, SIGMA
L8376, 10 g,,-20 °C
2

0.5MKPB buffer (pH7.0) 0.9% NaCl

1-1.
2-2.
3
4
2-3.
1-3.
2-4.
y=ax+b
nmol/day
= b /a /
ml  x4.5(ml)/0.1 ml x10(ml)
4.5ml =
0.1ml =
10ml = buffer
1. 20%

(0.131+ 0.033) / 3.363 / 0.1x4.5/ 0.1x10 =
220.5nmol/ g of liver
=0.131 y=3.363x-0.033

2. 20%

(0.069 +0.033) /3.363 /0.3x4.5/0.1%'x1
/ 0.1%*= 45nmol / ml of blood
=0.069 y=3.363x-0.033
4.5ml =

1 0.1ml =
#2(0.1ml =
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2ml

No. PaA final conc 1nmol/ml H,0O Buffer Medium Total
(nmol/tube) PaA(ul) (ul) (ul) (ml) (ml)
0 0.000 0 800 200 1 2
1 0.010 10 790
2 0.025 25 775
3 0.050 50 750
4 0.075 75 725
5 0.100 100 700
6 0.150 150 650
Sample X () 800- v v v
5 25ul
0.5
y=2.654x+0.043
B !
o
S
O
\O
~
79
=
O " T T
0 0.05 0.1 0.15

PaA (nmol/tube)

69



Liver acetone powder from pigeon, SIGMA L8376, 10 g, 38,500

Acetone powder 0.5 g
<10 0.02 M KHCO; 5ml

! 15,000 ppm S min 4

l<—Dowex 1x8 (CI) 1:1 vol/vol
! 15,000 pm 5 min 4
-20°C

1 INHCI

HCl (11.6M) ( ) 12

2) INKOH

KOH (M.w 56.11) ( )5.611¢g 80ml

3) Dowex 1x8 (C1 )
Dowex 1x8 (Cl ) ( ) 10g
<IN HCI 100ml (Dowex 10 )

10min

!

l<— IN KOH 100ml (Dowex 10 )
10 min

l

l«<— IN HCI 100ml (Dowex 10 )
10min

!

1«<0.5 M Tris-HCI (pH 8.3)  pH 8.0
2
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100ml



— 10 S50mM KPB pH70
— 100 5

— 5
— (L0 000mm 4 3

Sample 100 pl
(10 U/ml) 50 pl

50 pul
(15 pg/ml) 50 pl

37 2
— 50mM KPBpH70 225ml
— 100 5min

— (10 000mM ,5m )

| v

— 25ml
— (L0 000rpm ,5m n)

PaA
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